









$$f'(x) = 3x^{2} - 6x + 4 = 0$$

Qr: $x = \frac{6 \pm \sqrt{-0^{4} - 4/3 \cdot 4}}{2 \cdot 3} = \frac{6 \pm \sqrt{36 - 48}}{6}$
 $f'(x) \neq 0$ for any when of since or since.

 $f''(x) = 6x - 6 = 0$ when $x = 1$.

 $f''(x) = 6x - 6 < 0$ when $x < 1$.

 $f''(x) = 6x - 6 < 0$ when $x < 1$.

 $f(x) = 6x - 6 < 0$ when $x < 1$.

 $f(x) = 6x - 6 < 0$ when $x < 1$.

 $f(x) = 6x - 6 < 0$ when $x < 1$.

 $f(x) = 6x - 6 < 0$ when $x < 1$.

 $f(x) = 6x - 6 < 0$ when $x < 1$.

 $f(x) = 6x - 6 < 0$ when $x < 1$.

 $f(x) = 6x - 6 < 0$ when $x < 1$.

 $f(x) = 6x - 6 < 0$ when $x < 1$.

 $f(x) = 6x - 6 < 0$ when $x < 1$.

 $f(x) = 6x - 6 < 0$ when $x < 1$.

 $f(x) = 6x - 6 < 0$ when $x < 1$.

 $f(x) = 6x - 6 < 0$ when $x < 1$.

 $f(x) = 6x - 6 < 0$ when $x < 1$.

 $f(x) = 6x - 6 < 0$ when $x < 1$.

 $f(x) = 6x - 6 < 0$ when $x < 1$.

 $f(x) = 6x - 6 < 0$ when $x < 1$.

 $f(x) = 6x - 6 < 0$ when $x < 1$.

 $f(x) = 6x - 6 < 0$ when $x < 1$.

 $f(x) = 6x - 6 < 0$ when $x < 1$.

 $f(x) = 6x - 6 < 0$ when $x < 1$.

 $f(x) = 6x - 6 < 0$ when $x < 1$.

 $f(x) = 6x - 6 < 0$ when $x < 1$.

 $f(x) = 6x - 6 < 0$ when $x < 1$.

 $f(x) = 6x - 6 < 0$ when $x < 1$.

 $f(x) = 6x - 6 < 0$ when $x < 1$ is a lact $x < 1$.

